


Magnetbohrständer B 32.1 09507000

Nr. Bezeichnung Bestellnr. Stk Preis Nr. Bezeichnung Bestellnr. Stk Preis

CHF/Stk. CHF/Stk.

1 Magnetfuß 6I289917000 1 544.00 25 Schlitten 6I280104000 1 120.00

2 Ständergehäuse 6I280102000 1 381.00 26 Schraube M5x25 80201127 3 1.00

3 Schraube M5x20 6I211701000 4 2.00 27 Zahnscheibe 5 80200753 3 1.00

4 Mutter M5 6I101760100 4 2.00 28 Maschinenhalter, kpl. 6I289919000 1 91.00

5 Schraube M4x8 6I101730100 1 2.00 29 Schraube M5x25 80201127 4 1.00

6 Sechskantschraube M8x22 6I281706000 4 2.00 30 Zahnscheibe 5 80200753 4 1.00

7 Federscheibe 8 80201386 4 1.00 31 Schraube M6x30 80201429 1 1.00

8 Schalterplatte 6I282008000 1 37.00 32 Passfeder 6I280206000 1 5.00

9 Schutzschalter 6I101320100 1 35.00 33 Seitenhalter 6I282001000 1 22.00

10 Sicherung 2A 6I211308000 1 2.00 34 Schraube M6x20 80201124 2 1.00

11 Schraube M4x8 80201451 4 1.00 35 Einrastknopf 6I101741100 1 24.00

12 Schalter rot 6I101302100 1 11.00 36 Seitenhalter 6I282003000 1 51.00

13 Hebel 6I289904000 3 11.00 37 Federscheibe 6 6I101702100 4 2.00

14 Kabelverschraubung 6I109909102 1 8.00 38 Schraube M6x25 80201125 2 1.00

15 Zahnwelle 6I280202000 1 82.00 39 Anschlußleitung 6I109909100 1 31.00

16 Lagerbuchse 6I280203000 2 13.00 40 0.00

17 Führung rechts 6I280115000 1 26.00 41 Einmaulschlüssel 6I210238000 2 3.00

18 Führung links 6I280114000 1 24.00 42 Arretierungsfolie 6I210301000 1 2.00

19 Schraube M5x20 80201121 8 1.00 43 Schraube M5x16 6I211702000 1 2.00

20 Abdeckscheibe 6I280208000 1 6.00 44 Steckdoseneinsatz 6I281301000 1 11.00

21 Senkschraube M6x15 6I211705000 1 2.00 45 Schraube M4x10 6I281711000 4 2.00

22 Typenschild 6I282009000 1 10.00 46* Kabeltülle 6I210302000 1 6.00

23 Schraube M4x8 80201451 6 1.00 47* Gleichrichter 6I101301100 1 6.00

24 Zahnstange 6I280217000 1 58.00 48* Schraube M4x16 80201417 1 1.00


